EXERCISE 10G

LIMITS AT INFINITY

Evaluate the following limits:
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Describe the geometric meaning of your answers in question 1 (f), (g),(h).

Evaluate the following limits:
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Use the graph to find lim x*
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This is a graph of the function
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6. For each of the following functions find (i) ILIEI y and (i1) lim y
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ANSWERS

1. (@0 (b)0 (c)doesnot exist @5 @2 @ i— (20

() doesnotexist ) 2 ()% @ =
m p 5

2. (f) Horizontal asymptote y = 125— (g) Horizontal asymptote y =0 ie. X-axis

1

(h) no horizontal asymptote . Oblique asymptote: y = 3x + 3

3. (@0 () % (c) does not exist (d) ~1 (¢) —_1/— (f) does not exist

4. does not exist
5. (a) does not exist (b) does not exist (c) does not exist
6. (@) 0,0 (b) 2, does not exist (c) does not exist, does not exist

(d) does not exist, ~1




